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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module / Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

mw*‘w’ww%m@mm% AT HIET &Y
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

T TF & fv 3if¥edd gag @A v guer AUiRa &1 78 g
W a1 A STYRAH, WA TR A SGRART AT WA F
geaTd & Seel| qunfy, FUiRa Ue 6 & gge T T QU A
are qOETdt T v B SeR-giEae Al w div & qid 91,
T &) T S-S o Thd 8

Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall / room without
signing on the attendance sheet and handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module / Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HTT Tsh / PART ONE
(et 9ot & 3w & / Answer all the questions)

1. AT 9AF 12T F IW F F¢ Adey Re a0 §| ™=
FIH 39gFd faFer g 3R 3@ W wF F Ay
AT HIA NT “HTAIR” 3 99 A, 39H fow
e fadelt & ITAR, g FY
Each question below gives a multiple choice of
answers. Choose the most appropriate one
and enter in the “OMR” answer sheet supplied

with the question paper, following instructions
therein. (1x10)

1.1 32T & T ¢ H JIE A F T 536 K S
arel gfdhe i FET SATAT &

A) TARIT B) feahI=X

C) feru-wralry D) TR
The circuit used to store one bit of data is known
as

A) Encoder B) Decoder

C) Flip-flop D) Register

1.2 JUHS HT IO &Y &
A) Fade @iRTe a9
B) Iia¥iel TriTes HIRTel a4 shelor
C) Ifiad HIRTel a8 ek
D) 3WRIFd & ¥ IS oTgT
USB stands for
A) Universal Serial Bus
B) Universally accepted Serial Bus controller

C) Universe Serial Bus controller
D) None of the Above

13FTAAN_ FIaFI A E

A) g iR H B) Y& 3ikyw

C) #rdyg 31 g f8&h D) 3Wied &/ & FIg =Tg!
Cache memory acts between

A) CPU and RAM B) RAM and ROM
C) CPU and Hard Disk D) None of the above

1.4 S @Y 0@ TaTH H fAsaried wX T g oS
JTRFET e Fr amr g, 39 H Fgl SATAT 82
A) g AlS B) fAEecH Alg

C) g%w HS D) RFuesd Al
When CPU is executing a Program that is part of
the Operating System, it is said to be in?

A) Interrupt mode B) System mode

C) Half mode D) Simplex mode
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1.5 TEITOT AT Ielehicl & ITRT BIAT §

A) #ETH oW B) 3rer foleh o2

C) UTolheld iR D) rHUE ol X
Transmission control protocol corresponds to

A) Network Layer B) Data Link Layer
C) Application Layer D) Transport Layer

1.6 ST sicdd A WX U gRC #Acdedh B T gRT & Th
ool AT &, dl T3 7T uad &Y g@dr &7

A) dE B) JfFdward

c) #ifaw D) 3IWIFd H & IS ALY

When a host on network A sends a message to a
host on network B, which address does the router

look at?
A) Port B) Logical
C) Physical D) None of the above

1.7 TASIST Tl aeheeelel W fohdl 9 T FQTffcd ofel &l
PR 8?2

A) Tord B) wemds

C) e aRares D) W@Tar gRdTeleh
What group on Windows NT workstation has the
right to take ownership?

A) Users
C) Print Operators

B) Administrators
D) Account Operators

1.8 ST 37 i FETSATATE

A) fye B) s=T
C) "&ar D) auof
A binary digit is called a
A) Bit B) Byte
C) Number D) Character
1.9 Rarar 319§ :
A) Yt Seedsie MHT
B) Hahe gexee AR

C) Yo¥ gcifdeg M
D) Hahe gedfFea M

Ping stands for
A) Packet internet gopher
B) Packet interrupt gather
C) Pulse interactive gopher
D) Packet interactive gopher
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1.10 172.16.0.0/19 T Acaesh IdT fohdel Tesie 3R gee
TeTel AT 872

A) Yl 7 Gaeic, 30 gRC

B) Ycdh 8 Heeic, 8,190 <

C) Ycdh 8 Hesic, 2,046 <

D) 9cdeh 7 Feeic, 2,046 g

The network address of 172.16.0.0/19 provides
how many subnets and hosts?

A) 7 subnets, 30 hosts each

B) 8 subnets, 8,190 hosts each

C) 8 subnets, 2,046 hosts each

D) 7 subnets, 2,046 hosts each

2- #r Rw v g3+ faor g at @@ A1 ad §| v
FI 39gFd faFer g 3R 3@ W wF F Ay
T el & TR, gof | (1x10)

2.1 [T WA #, ASHEGE & IHJAR, Tl H
AR 379 § o1 Wi

2.2 U fAel 16 cw &1 Tg &

2.3 GIC & 9T TAUIE ST GaRT &A1 ST B

2.4 256.21.120.1 3% 33U I &

2.5 U IPv4 9T 32 focq ofFer g

2.6 dcds AT Yehe 3TThAUT, Tiftd Fe=m3it 3R ga:
HFITOT & 3e0eT & fore foreaer B

2.7 EIdY eIt SeHEl TeThieT g

2.8 oo fieX T &1y fsuresT sic At e & dgaR
el

2.9 TAITHTH HI5e FUlell HT Jofall H THUT BIsel
JUITST §8T HIgel UG HL Thal g

2.10 Jcde R 3TT & Ided gIEe do Aol & T
7T Tl &1 T=AN9T T B
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 In Windows NT, official meaning of NT, according
to Microsoft is stands for New Technology.

2.2 A nibble is a group of 16 bits.

2.3 Port address is assigned by transport layer.

2.4 256.21.120.1 is valid IP address.

2.5 An IPv4 address is 32 bits long.

2.6 Network layer is responsible for packet
sequencing, acknowledgments, and requests for
retransmission.

2.7 TCP is connection oriented protocol.

2.8 The performance of Laser Printer is better than Dot
Matrix Printer.

2.9 FAT file systems can store bigger files compared to
NTFS file system.

2.10 The network layer uses physical addresses to

route data to destination hosts.
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3. HiadA X H Rw a1v eree) 31 arerat 1 fAarer siaa Y & U v Aeaw arafa are / asel /areat ¥ w3 39
faeeq yeat o & WY R e <A 3 THF A, 3WH R 7 el F1 arer F1 g, at FY - (1x10)

X Y

3.1 I A, | 3egS aqras

3.2 o & og S O B. |safowam

33 |dramaanwg C. | wigd 3mdesT arfaemr

34 | AT Mesh D. | widfe mpisa E=m

35 |wgmHd T E. |Jcadow

36 | vaUa W T ORI F. | st o

37 | Tomeus g G. | afe saIqe /3m3eye yoTel

38 | ardexor H. | R afrsa

39 | wwTd I | ooeieRee oRR

310 | gwdrdr & 3THT B J. | gecteie WA
K. | sees
L. | vomel yeitrer fege amqfct
M. | e #rs 1 Rrege smaft

4. A I AT g & A & 7€ T F v areg A1 A1 Y e & fAv Red wurer TA F9d 39T Ao g4

3R 3% weeT 9 & WY R A0 “HTHANR” I 99F A, 3HH U 10 Ireqg el F HTaN, gof A1 |

(1x10)

A | Jeas B. | Repad arer C. | uréfera

D. |2efw E. [dqrstomdr F. | Attrib

G. | BfSca aRadaia B H. | g L | e B

J. | g K| gz Rets L. | e

M. |tavoa

4.1 SIdIST &1 qUT &9 & |

42  TFeH R o AT g

43  UH S Acah i H9eThd g3 Hianfern & 7 e gy 39 FEgd g

4.4 & GRIeT SHTPEX Tt TR T T AT AT B

45 AT 31 FATAPT T U A § ST JI19T Y sHhsaT TR & forw e §)

4.6 TS 31T T Teh THT9T ¢ FSTenT TA1eT diffoiehel S5 T IW= & forw fFam ST Tehar &

47 SRS X FEua g

4.8 Teh FolldY T3Eeh T JUH JFe AT Ueh TIEIAT H ollfolohel 3189 g, SHH (3 AT dlfolhel 318d & IR &
AT Bl B

49  fdsrer 2000 # T TN I I D Blol T FHEAT &l FHTHTS i TAT HATSH AT el &
fore fonam ST Tk &)

4.10 TS FrSell BT J3-3i1eTel, 3ehiga, Feea 3R By g5 fawarat o gefRid a1 aRafda Fer g
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 IP A. Network Topology
3.2 PKZIP B. Data Link Layer
3.3 BIOS C. File Allocation Table
3.4 Mesh D. Format Achieve Tabs
3.5 SMPS E. Network Layer
3.6 LLC sub layer F. Presentation Layer
3.7 Telnet is a G. Basic input/output system
3.8 Encryption H. Remote Login
3.9 FAT 1. Application Layer
3.10 FTP corresponds to J. Internet Protocol
K. Compression
L. System Management Power Supply
M. Switched Mode Power Supply
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10)
A. Network B. | Recovery Console C. Partition
D. Data Link E. | POST F. | Attrib
G. Digital versatile disk H. | Protocol 1. Cassette disk
J. WAN K. | Boot Record L. Motherboard
M. | LAN
4.1 DVD stands for
4.2 Routers are part of the layer.
4.3 A computer network that spans a relatively large geographical area is called
4.4 During , computer checks most of its parts.
4.5 is a set of rules and standards that two entities use for communication.
4.6 is a division of a hard drive that can be used to hold logical drives.
4.7 BIOS located on the
4.8 is the first sector of a floppy disk or logical drive in a partition; it contains information about the

disk or logical drive.

4.9 The

410 The
files.
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in Windows 2000 can be used to execute commands when troubleshooting a failed boot.

command displays or changes the read-only, archive, system, and hidden characteristics of
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AT9T &Y / PART TWO

(fF=gl IR 92T & 3w &/Answer any FOUR questions)

fAFfaf@d uat i sarear 1

i) aRRE

i) T AR

TSTUUS, THUTH 3 S50 T Uef &l ST Y|
wFET T &7 TR ¥ sarer Y|

Explain following terms:

i) Virus

i) Anti Virus

Explain LAN, MAN and WAN.
What is routing? Explain router.

(5+6+4)

B8 )W U Tigred fequof forgd |

dHHT H FAT IJAWThdl g? fdsiar T SFH3T
giefordy s sarear Y|

gFdac fex 3R Al - 3Fdae e 7 R Td17 |
Write a short note on DVD.

What is the need of backup? Explain Windows
Backup Utility.

Differentiate Impact Printer and Non-Impact
Printer.

(5+5+5)
AT shY 3ETET & AT SITEAT Y|

e &1 §7 98I vadY Aeas # e 1 ars
& forw Teor ford |

a) Explain subnetting with example.
b) What is a Printer? Write steps to share a printer in
Windows NT Network.
(8+7)
S5|Page
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frAfaf@d ugth & carear 1
i) WrERare
i) a3Ter AARY

SINSINTH Fe3rq gfeferdr # faegare faawansi v
SITET |

faerst wAdt aRarelet gumel i FHET AATATT Far
&7

Explain following terms:
i) Firewall
i) Virtual Memory
Explain Features present in the BIOS setup utility.
What are the main features of Windows NT
operating system?

(5+5+5)

eT5 3T o1 SThadicd T §72 3T T T 82
e 3R dehaisamsd gRfads & & 3R
o]
What is Defragmentation of Hard Disks? What are
the advantages of it?
Write difference between WinZip and PKZIP
utilities.

(8+7)
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